a(6 @) (rad)

10™

-1 0 1 2 3
TP n (PCA to beamline)

a(d cot(B))

Ratio

-1 o0 1 2

“3

TP n (PCA to beamline)

Ui l IIIdI StE] LJ.LUJ.UUU eldd} to é)a

—— D

—e— DOM™m tolOOO eraz)

T bom- ?n Ie stzg 1161000 S1a2Poic Gto2hs

—+— DOM~fas tolOOO et 8

—— DOQMT] |xeTCP T plate_step2 tltol 00_eta2p0Oto2p5

-
IS
)
e
=
>
x
o
o
S
©

.............................................

..............................................

-1 0 1 2 3
TP n (PCA to beamline)

kel
T :
¥ [
o5l
-3
o
s
o
o
o]
10°E
107k
01074
T [
24 [
0.5p--
F

T 0 1 2 3
TP n (PCA to beamline)

z

o(d d.) (cm)

-1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


